

Maisonette in Marsascala



Marsascala, South



€585,000

Reference No: 240061191-221

 Total Rooms: **8**

 Floor Area (m²): **188**

 Bathrooms: **2**

 Bedrooms: **4**

Maisonette - For Sale - Marsascala

MARSASCALA – FULLY FURNISHED MAISONETTE – Located in a villa area of Marsascala a stone throw away from St Thomas Bay. This property consists of a a Sitting area upon entrance, 3 Double Bedrooms and study, Main + en-suite, Main Bathroom, separate Kitchen/ Dining and a Large Corner Terrace Ideal for entertainment including a Jacuzzi. Complementing this property is an optional interconnected 9/10 car Garage. It is being offered as freehold, contact your preferred agent for more info.

Features

- ✓ Kitchen/Dinette
- ✓ Walk in Wardrobe
- ✓ Water Utility
- ✓ Gypsum Plastering
- ✓ Skirting
- ✓ Fire Safety
- ✓ Terrace
- ✓ Back Yard
- ✓ En Suite
- ✓ Marble Floor
- ✓ Electricity Utility
- ✓ A/C
- ✓ Wi-Fi
- ✓ Double Glazed
- ✓ Balcony

Rooms

- ✓ Kitchen/Dining : 4.81 x 3.5 m (16.83 m²)
- ✓ Sitting : 3.45 x 5.67 m (19.56 m²)
- ✓ Double Bedroom : 3.21 x 4.69 m (15.05 m²)
- ✓ Double Bedroom : 2.3 x 3.54 m (8.14 m²)
- ✓ Double Bedroom : 3.23 x 3.48 m (11.24 m²)
- ✓ Double Bedroom : 3.65 x 3.99 m (14.56 m²)
- ✓ Bathroom : 2.1 x 3.24 m (6.8 m²)
- ✓ Shower Ensuite : 1.56 x 2.45 m (3.82 m²)
- ✓ Open Space : 4.67 x 17.34 m (80.98 m²)

Gallery











Jayden Lautier

RE/MAX Superior - Fgura

M: 77775176

E: jayden@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura

368, Zabbar Road, Fgura, Malta